0000000 13002010/07/080
e UmUIDOOOOOO
a+mZ={a+mn|necZ}

={...,a—2m,a—m,a,a+m,a+2m,...}
mO (a=0,...,m—1)000000 (+ 00000000 =000Z0000%/=0000)

7./m7 = {mZ,1 +mZ,2+mZ,...,(m— 1)+ mZ}
= {[0],[1],[2],,[771,—1]}
={0,1,2,...,m — 1}

000000000a+mZ={a+mn|neZ}=[=a00000000000

ea+7000000000a+Z=Ja]=a0000«0000000000000000m=>5
0oo0[-7=[-2/=[@3=[8=B3+5]000000000000000000000

001000 (1)~(5)0000000
(1) a+mZ = b+mZ, (2) —a+b e mZ, (3) b € a+mZ, (4) a € b+mZ, (5) (a+mZ)N(b+mZ) # (.

)=2)beb+mZ=a+mZ0O0O In€Zst.b=a+mn. 000 —a+b=mn e mZ.

(2):>( yIne€Zst. —a+b=mnO000b=a+mn € a+ mZ,

3)=4) IneZst.b=a+mnO000a=b—mn=>b+m(—n) € mZ,
4)=0B)acb+mzO0beb+mZO OO0 (a+mZ)N(b+ mZ) # 0,
5)=(1)3ce(a+mZ)N(b+mZ)OO0O0D003Ing,ny €Zst. c=a+mny=b+mn00000

a=b+m(ne—n)0000Va+mn € a+mZOOOO0Oa+mn=b+m(ng—ni+n) € b+7Z00
OO00O0a+mZ Cb+mZOaDO 0O00000000b4+mZ Ca+mZOO0O0a+mZ = b+ mZ.

e (a+mZ)=
(1) [a] =[0], (2) —a+bemZ, (3) b
()a=>b,(2) —a+bemZ, (3)be

s
_l_

H—aDDDDDﬂ)@DDDDDDDDDDDDDDDDDD

(
€ [a, (4) a € [b], (5) [a] N[o] # 0.
@, (4) ach (5)anb#0.

o #(a+mZ) =#la|=#a=00000000#(Z/mZ)=mD00000 Z/mZ ={0,...,m—1}
020000000 +000-0(000000000ODO)000D0OOOOOOOOOOO

(Z/mZ,+)00000 (+~0000000000000°7

m =2 m=3 m =4 m=>5 m =6
- . - 4|01 23 1%5
o 1 2 g 1= - 2 2 = °
+/0 1 —}——— 0|0 1 2 3 |2 = 2 = - 1|1 2 3 4 50
- - "90]/01 2 Z|- 22 1/1 23 420 2|z 22222
o/lo1 -2 - 2 1/1 230 2|z <2222 2|23 4501
/2 2 1|1 20 |22 2 21231201 2|2 <=2 2 2 2 2
I[T0 5|5 571 2(2301 3/3 75713 3(3425012
§§6T§ZZET§§ZZSGT§§
5/5 01 2 3 4

(z/mz, -)00000 (+~10000°70000000070007)

m =2 m=3 m =4 m=25 m =20
- - - - - |01 2 3 4 5
o _ Jo123 4912341550000
~ - -]0T 2 —=—=>=0[00000 =<|- = 5 5 =« =
01 —4——-90]/0000 =|- 2 = - > 1]/01 2 3 14°+5
!t 90/00 0 2|~ - - - 1T|/01 234 |- -2 Z7=¢
0o/loo -|- - - 1|01 23 2|22 2 2/02 40 2 1
-/l 2 1l012 |- =22 21002 1213 2| <=2 2> 2 2 2
10T 55571 2/0202 3/5 357315 3/0303°703
§6§§T161§§TZGZ§615
5/0 5 4 3 2 1
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m=7 m=2~8 m=9

. _ _ _ _ _ _ .|/01231535¢86738

0123158 555555 g 0000000000
0(j0 000000 17/5 7537557 L|012345673
ljol23456 51557605336 2/9224681357
2100246135 /5 3¢77735c5F 3/03603¢6703¢6
3036 25 14 25 12657530737 2048372615
4100415 263 =/5g 5% 771753 2/051627323814
50053164 2 =5 =755 713 06(063063063
610 6 543 21 £l5% 5735371 ([0 753186472
8|0 8 76 5 123 2 1

O00meNOODOODOOOO Z/mz={0,....m—1}000 +000-0000000
0000000000000 00000000000OD000000(«+~ 0000 -0000)

looooo

0000e«0000000000 (00)a=[0b0000000000b=[50000
00a0b00a+b00000 at+b=[a+b,000a=[e0000b=[0000 abO
0000 ab=[eb)00000000

00 (z/mz0000000)000Z/mZ={[0],...,[mn—1]}={0,...,m—1}0000 [a] + [b]
(@+b)000 [a]-b] (@-0)000000OOO00:

(a+mZ) + (b+mZ) = (a+b) +mZ, [a] + [b] := [a +b], a+b:=a+b,

(a +mZ) - (b+mZ) = (a-b) +mZ, [a] - [b] :== [a - b], @-b:=a-b.

00000000000000. a4+mZO00b+mZOOO00 «b00000000000
0000000000000000000000000 6, b00e+b00«000000
(a4+mZ)+ (b+mZ), (a+mZ)-(b+mzZ)00000000000000000

0020000 (2, +)00000mZ0 (Z,+) 00000000
) Vmny,mny € mZ O 0000mn, +mny =m(ny +no) €mZOO —(mny) = m(—ny) € mZ 0O
000000ooooooooOo (D woood [6],p.23)DDDmZD ©zOOO0OO

03(00000000)0Z0000mZOO0O0000 Z/mzZ000000
30000 55 ={(1),(12),(13),(23),(123),(132)} 0000 H={(1),(12)}000000

Ss = (1)H U (13)H U (23)H
={(1),(12)}U{(13),(123)} U{(23),(132)}
= (12)HU(123)HU(132)H

D000000000003000000000 S; /~={(1)H, (13)H,(23)H}000000 %0
(aH) x (bH) := (a0 b)H

O00000000000000 ab00 acb=c0000 cHOO (eH)*(bH)OOODODDODOODO
000000000 (000)000000000ooooon

(13)H % (23)H = (13)(23)H = (132)H = (23)H
gdododouooouoouo
(13)H % (23)H = (123)H % (23)H = (123)(23)H = (12)H = (1)H

00000 (13)H«(23)HOOOODOOOODOOODODODODO0Ooooooooooooooo
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e 00000000 ONODON0DODNONONO (a+mZ)+ (b+mZ) 000 (a+mZ) - (b+ mZ)
0 well-defined 0 00 (0000000000)00000000000000000

(a+mZ)=(d+mZ) 00 (b+mZ)= U +mZ) [a=[])00 =[] a=d00b="0
D00000000000000000000000000000000000

(a+b)+mZ = (a'+V)+mZ [a+b] = [d'+V] at+b=d+V
ab+mZ = (a' - V) +mZ [ab] = [a'V] ab = a't/

000000000 000000000 (+)00(-)0(@000)000ooooon)

004000 Z/mZ ={[a]|a € Z} 000000000 [a] +[b] :=[a+b 000 [a] - [b] := [a-b]
0 well-defined 000 (= 0000000000). (« welldefined 00000000 p4900)
00000 =[]00 B =000 [a+b=[a+V¥]00 [ab] = [a¥] 000000

O e =[00 B =p]00000 100 —a+d emZ, —b+b emzO00000000000O
O0(—a+d)+(=b+V)=—(a+b)+(a’+V) emZ OO —ab+ad'tl = (—ab+a'b)+ (—ad'b+ad't) =
(—a+d)o+ (=b+V)d emZ 00000 1OOO[a+b]=[d+]00 [ab] = [@¥]0000

e 000000000000 000000000000 well-defined000000000000
00000000000000(000000(%Z/mZ,+)0 (Z/mZ,-))00000000000

00 50(Z/mZ,+)000 mO00000000

yoooooooooo
00V|a], 8], [d € Z/mZ
a]+[b+c] = [a] + ([0] + [c])

GO U000 well-defined D0 0000000000000 (GL), (G2), (G
(G1)OO0OOD 00 a,b,cezD000000 (a+b)+c=a+(b+c)
O00000(a]+[b)+c]=la+b+][c]=[(a+b)+c] =[a+(b+c

=593
Doo

noooo,

(G2)ono(Coo)oojobo0ae+[0]=[a+0]=[a]l = [0+ a] = [0] + [a] (Va € Z),
(G3)V[e|DOOOOODO [—a0DO0OO[a] + [—a] = [a+ (—a)] = [0] = [(—a) + a] = [—a] + [a].
00 4+000000a+[b])=[a+b]=[b+a]l=[b+]a (VaeZ)DODO OK.
000000000000 (1) ={a-[1]jacZ}={1 dlacZ}={|a|acz}0000000

00 60 (Z/mZ,-)00000 [a] € Z/mZ000 [a] ' € Z/mZ000 <= ged(a,m) = 1.

@ 000000000000 (0110000 [7], p.30)000

ged(a,m) =1 <= 3Is,t€Zst.as+mt=100000000000

(=) [a]000 b)) =[a)'0000000000[] b = [eb] =[1]000000 1]000-ab+1 €
mZ. 00003neZst. mn+ab=100 ged(a,m)=10000

(<) ged(a,m) =1= 3In, b€ Z st. mn+ab=1. 00000 [a][b] = [ab] = [1] = [ba] = [b][a]
0000000 = [a'000000

00 (000000000000)0%/mZ00 a+mZO0000ged(e,m)=100000000
00000000000000000000 (Z/mZ)* = {[d € Z/mZ| ged(a,m) =1}y 0000
(Z/mZ)* 0000 ¢m)0000¢0000000 (Buler function) 000 0

70 (Z/mZ)* :={la] € Z/mZ | ged(a,m) =1} 00000 ((Z/mZ)*, -)000 ¢(m)00O0O
DDDDD (zZ/mz)<,-)00000000000

@000 welldefined 00000000000 D0OD (GL), (G2), (G3)0000000000
(GL))OOO 00 a,b,cez0D0O00O0O0O (ab)e =a(be) 0O O0OOV]al,[b],[c] € (Z/mZ)* 00O
000 ([a] - [b])[e] = [ad] - [c] = [(ab)e] = [a(be)] = [a] - [be] = [a]([] - [() DO DT OO,
(G2)0000 10008 [dt] = fo-1] = fa] = (1] = fa (¥1a] € (Z/m2)"),

(G3) 00 6000V[d] € (Z/mz)*000 [o) ' €Z/mZ00000['0000 [¢)00000
00000 € (Z/mZ)*00000000000 [a][b] = [ab] = [ba] = [b][a] O O OK.
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0(QO00)0p0000000«(Z/»2)%,-)={1],[2,....[p-1}000p—-100000000
000(Z/pZ,+,-)000 p00 (000)0000F, —Z/pZDDDD(eDDDDDDpQQ

DDDDDDDDDDDDDDKDDDDDDDDDD(D 100 p23DD)DDDDK
00000ar+b=0,22=a0000000000 aa:—i—b_O(modp) P =a modp
OzelF, 000000000000 O0000C0O0O0O0ODOOOOOOODO)

ejO0O0OUOO0ODODODOOOODDLODDOUOOOODLDDODODOUOOOODLDODDOUOOOODLDLODbOUOOn

00 (0000D0000)0 00 pO ged(a,p) =10000 acZ0O0O000O
a*"' =1 (mod p).

@ (Z/pZ)*000 p—1000000000000V|[d € (Z/pz)*00000{1],[2],...,[p—1]} =
{lal[1], [a][2], - ,[][—1]}DDDDDDDDDDDDDDDDDDDDDDDDD[1]- [p 1] =
[P Y([1]---[p—1)0000(1]---[p—1)"'00000000000eP'=[1]0000

(Z/pz)*0OOoO0O0O0000000OD0O000((Z/mz)*00000000000OODOOOOOOOO

00 (0000000)0 O00m>20ged(e,m)=10000ee700000

a?™ =1 (mod m).

GOUO0G 0000000000000 O0OOoOOooOn)

0000 (@DoDOooooooon)

1] 00000000 ¢(m), (2<m<25000000
00 O0ged(a,b) =10000¢(a), p(0) 0 p(ab) 0000000000000000000
<m<1

[2] OO0 (Z/mZ)*, ), (2 0)00000000(0000pp.36-370000)
[3] 200000000 (Z/mz)<,-)0000 (Z/mZ,+) 000

(Z/32)% = (ZJAL)* = (Z/67)* = 1,27,

(Z/57)* = (Z/107)* = 7./A7,

(Z)72)* = (Z)97)* = 7./67.

gbobobooogbbobuoooobobobuoooobood
(«~ 0000000000000 D00000OOoO0O000D00oOoOOO0oOoOoDOOoooooOO
0000000000000 0000000ooooooon)

0000 (z/8z)* ={[1],[3,[5,[7}00000000000000

[4] 20 11000000000000 (+~000:000000000)

[5] 310 11000000000000
(+~000:0 (Z/112)* ={[1],...,[10} 0 a=b (mod 11) < [a] = [p) 000 O
(=3 000<a<100000)

[6] 51’0 11 000000000000
[7] 72010078 0 11 000000000000
[8] 701008 O 120 00000000000

9] 730 12000000000000 (+-000: 73 =968890104070000000)
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goboooooobobobooooooogogdn

00 [0o)(00000)00 (G,0)000 (GL+)0000 f : G— GO
Va,b e G OOOOf(aob) = f(a)* f(b)
O000000f0GOOGOOO0O0O0O0 (homomorphism)O0O0OO

OO0 [0Oo(000O0)[oOO00000000O0O0D O GoOOGEooOoOODODOoDUUOoOoOO
oo0O00OO0OGO ¢000o0ogE=@E00oooooooooooooooooooooo

00 (00000000000)0 0 (G,0)00 (¢« 000000000000 (10100)0

000000000 (Do «)000000 (000000 OUD)00DD0DODOD0ODOOOOOODO
oGUibooooogooooboobooooooooboboboooboooooboboboboo

00 [DO0)(000000)0 200000 (X,0)0 (X,«)0000000000000000
000000000000000000000000000000 (isomorphic) 0000000
(X,0) ¥ (X',«)000 X~ X'000. (+ X0 X' 00000000000000000. X0
X'00000000000000.00+000000(=00000000)00000000)

(1) 000 Z/4% = {0,1,2,3}, 0 G' = {1,b,by,bs} 00 0007Z/4Z000000 ¢'O0000 1
00000000 f:7Z/4Z -G, a— 10000000000 0000000000)

i— 9 1 % % 1 1 1 1 1 a— f(a),
0101 23 rgppgnn o e R (O 1]
% % % % g — 11y g | arbe Sl fk) 0000
)= f(a)- f(b) OOOODODOD
sl3 513 111 fla+b)= f(a)- f(b)

() 00000 Gooo000o oo 100000000 G—-G6G, g~ 10000000

(2)n00005,000000000 (¢00(0)00000+1(-1)00000000
sgn: S, 30— sgn(o) e {£1} 0000000 (+ 0000000->30000000000)

o | (1) a b ¢ d e -1 -1 -1 -1 1 1
M1 a« b ¢ d e 1|1 -1 -1 -1 1 1
a | a b (1) d e ¢ -1/-1 1 1 1 -1 -1
bl b (1) a e ¢ a °80° DHD e T B T T T T
clc e d (1) b a -1/-1r 1 1 1 -1 -1
d| d ¢ e a (1) b 11 -1 -1 -1 1 1
el e d ¢ b a (1) 11 -1 -1 -1 1 1

(3) g:7/AZ — 7)27,0+—0,1—1,2—10,3— 100000000000 00000000)

(4) h:7/27 — 7./47,0— 0,1~ 200000000000 (+~0000000000000)

+/0 1 2 3 +/0 1 0 1
010123 gpoggp 9|0 1 01 AhO000D0
111230 — 1110190 —
212 30 1 010 T 0 1
313 01 2 1/1 0 1 0

Ooo00oo0oO0oooO0ooOO0OO0(0s50)0(O0O000)0000400000000
gobboog200bobboooobobuoooobbobogboonobbogan
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O0000000oooooOoooOoOo(@oooooooooo)o

eZ/mzZ 00000000 GLOOUOUOD HOOOOOG/HOOODOOO

00 (000)0HOO GOOOO0O000O0
eeGO000aH:={ah|he HYO HOOOODO «000000000
(«+~GODO000000000a+H={a+h|heH}00a+mZ00OO0ODO00000000D)

e J0000IOOO0OOOOO0 GUOOUUODOOAGH #HaODOOUOODOOODOOODOO eHODOO
00 HeOOOOOOODODOOGUOOO (DOD)000O0O0UeH =HaOOOOOOOOOOOODO

D000 GODO0OO0HDeeGOOOODODDO (HOG)OOODDODO

(1) aH =bH (2) a™'b€ H (3) b € aH (4) a € bH (5) aH NbH # 0,

(+ GOO00D00D0000000D0D000Z/mZ000000 100000
(1)a+H=b+H (2) —a+beH B)beca+H (4)acb+H (5) (a+H)N(b+ H)#0)

D0 (HOOOOOOO)OHOOGOOOODOOOOe,be GOOOOaH =bH(+~D0OO0O0Oa b€ H
O000)000000e«0 b0 HOODDODOUOOOUOOOaea~mbO0000(e~b0000000OO)

00 (000000 G/H)D GO HOOO (0)000000 {aH|acG}0 G/HOOOO (+ ~ 000
000 X/ ~000)0000000 {HalaceG}O H\GOODO.
(+ GOO000D000000G/H ={a+H|acG}=H\G)

00 (G0000HOOO0)I G/HOOO (00)0|G:H/OOODO0OGOOO0 HOOOOOOO

[DD (000000 (Lagrange) 000)0000 GOO0000 HOODOO|G|=|G: H||H| j

(OGO HOODOUOOOODOOO G/H ={H,aH,...,aq, H} 0O00000000be HOOOOOH =
{c1,...,em} D ¢ci > b € bH = {bcy,...,bep,} CH OO0 (¢;#¢j = be; #bc;) D000 |H| = [bH| =m
(WeH).G=HU--UaqHOOOOOO mOOOOOO0DO0O0|G| =km=|G: H|H|

010000 GOOOO HOOO #H =|H|0O#G=|G|0000000

02000 nO000O0 GUO eO0O0O0O0D0ord(e) | #G0000OVee GOOOOOG™ =10
03000bobgdpbobboonooonbg

OD00OHFDOO0 GOOO000000eH = bH < (ca)H = (cb)H, Hao = Hb < H(ac) = H(bc),
(Va,b,c€ G). 00DODDO ()0 @) 0000000

(1)Vge GOOOOgH = Hg;

(2) Va,b,d/, b/ e GOOOOaeH =d’HOUO bH =V H = (ab)H = (d'b')H;

(3)Yge GOOOOgHg ! C H;

(4)Vge GOOOOgHg '=H.

00 (00000)00GO000 HOOgH =Hg (VgeG)DO00000HD GOOOO00O (normal
subgroup) D0 D0 H <GOOOO0O0DO00(MOODOOOONONONOONN)gHOOOOO000O0O

O00DHOGUOOOOO (H<G)DODOOOOOOOD G/H={¢gH |geGO000000 0O

(91H) * (92H) = (g192)H
O000000well-defined 000000000 (G/H,+) 000000
0G/HOOODD H (=eH)DOgHODODO (gH) '=¢ 'HODODOO
(+GD0000000000000 H (=0+H)0g+HOOOO —g+ H)

00000000 (2)00 well-defined 100 00000000000000000000000 (000
00000)000000 0 well-defined 000000 2 (p.37)00)

oo ({@o0oooboo)oo (G/H,x)00 GoOO0O000 HOOOOOoOOoOOoooooooo
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